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Multiplication is the inverse of division.
When an equation contains division, use
multiplication to “undo” the division.

Solve the equation. Check your answer.
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Solve the equation. Check your answer.

Solve the equation. Check your answer.
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Solve the equation. Check your answer.
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Solve each equation. Check your answers. B 12= z
Wi=4 4
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At Elk Meadows Park an aspen tree is one-

third the height of a pine tree. Jamie weighs one-half as much as her father.
- . . - D father’s weight

height of ale h = helgh;of pine Jamie’s weight = 2

The aspen tree is 14 feet tall. How tall is the Jamie weighs 95 pounds. How many pounds

pine tree? does her father weigh? .

Let h represent the height of the pine tree. Let w represent her father’s weight. ‘ [ br&
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Solv eeache uatlon Check your answers
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= 52-
4. x =7 7 J 8=
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5. The area of Sherry’s flower garden is one-
fourth the area of her vegetable garden. The
area of the flower garden is 17 square feet. Let x

represent the area of her vegetable garden. Find
the area of her vegetable garden?
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